

ComfortDelGro Engineering Pte Ltd

59 Loyang Drive Singapore 508969

Our Ref

305490842

Date : 1802

Time of Fax

Attn: Motor Claims Department

Dear Sirs

Via Fax

Your Insured

Date of Acc

h 9277

SURVEY OF CLIENT'S DAMAGED VEHICLE REG NO. SH

Our client has engaged us to repair the above vehicle and submit claims against the other party/parties-involved in the accident.

In accordance to the motor claims framework, we hereby request your presence at 59 Loyang Drive, Singapore 508969 to survey our client's damaged vehicle.

Enclosed, please find:

- i) Our initial estimate of repairs of the damaged vehicle;
- ii) Accident report made by our client.

I would appreciate it if you could call us to arrange for the survey of the vehicle:

Lim Kwok Eng
 Jumani Bin Masudin
 Lim Tien Siong
 Chiang Liat Choon
 Tel: 6214 8355 or HP: 9824 0811
 Tel: 6214 8315 or HP: 9635 5305
 Tel: 6214 8398 or HP: 9635 8546
 Tel: 6214 8314 or HP: 9296 6006

limts@cdge.com.sg ⊁ax no. 6546 8156

If we do not hear from you within the <u>next 48 hours</u>, we shall deem that you have waived your rights to survey our client's vehicle and we shall proceed to engage independent surveyor without further reference to you. We henceforth reserve our rights to claim for Loss of Use and Loss of Rental during any delayed period of this survey arrangement.

This is an initial estimate based on a visual inspection of the above vehicle. The final repair quantum will be prepared after the vehicle is surveyed by a Motor Surveyor appointed by the Insurance company.

Thank you.

Yours faithfully

Lim Tien Siong

For Vice President Taxi Accident Repair



Name of Attending Staff/Guard

ComfortDelGro Engineering Pte Ltd

205 Braddell Road Singapore 579701

Mainline +65 6383 6290 Facsimile +65 6280 9755

Service Centres

205 Braddell Road Singapore 579701

45 Pandan Road Singapore 609286

7 Sungel Kadut Way Singapore 728791

50 Ubl Road 3 Singapore 408649



Signature of Attending Staff/Guard

CUSTOMER'S COPY



JOB REQUISITION FOR BREAKDOWN / TOWING SERVICE

Job Requisition			APPROPRIEST TO THE PARTY OF THE
1. Date: You 22 Time Re	ceived: 09 4 Was Vehic	ele Type:	4. Type of Towing:
2. New SPARK	Cakis	Private	Normal Tow
Name of Customer : WS	OT X SO WEST	Taxi (CTPL/CCPL)	King Dolly
Contact No.		Fleet STK (Boon Lay)	Flat Bed Crane-up
Contact No. : 6	7 33 3	TIT (BOOIT Lay)	
Vehicle No.	013 22 D 5 Natur	e of Service:	6 Porto Poplaced/Perseules
Make/Model/Colour:	ace .	lumpstart	6. Parts Replaced/Remarks:
Wake/Wodel/Colodi.	100000000000000000000000000000000000000	Recovery	-
Email : (+C		Change Tyre / Battery	
7. Location:	legat Vo		r - In Workshop:
9. Preferred Workshop:	(Traffic Pay	□ Smoky □ Overhe	Exhaust Wheel Jammed Pating Steering Faulty
☐ Braddell ☐ L	oyang Pandan	☐ Brake	
Sin Ming S	ungei Kadut 🔲 Ubi		g Problem Loss Power
Komoco (UBI / Leng Kee)	Cycle & C	Carriage (PD)	
Others:	_	Return	laxi
10. Odometer Reading :		11. Radio / CD Player	FRANT
· ·		□ ок	
Fuel Level : F	1/4 1/2 3/4 E	Faulty	
		I NOT TESTED	
Job Attended		Not tested	ACHTECON ACCUSATION OF THE PROPERTY OF THE PRO
	BS D ØA D GAD D'T		TELLEN STORE AND A
12. Tow Truck / Recovery Van : U	RS GA GAD OT	HERS	LETADE O
12.Tow Truck / Recovery Van :	RS GA GAD OT		TEAR THE REAL PROPERTY OF THE
12. Tow Truck / Recovery Van :	RS DOA DOAD DOT		#: Cracked X: Dented
12. Tow Truck / Recovery Van : Vi Name of Driver : Vehicle No. : Time Dispatch :	HOOLAN IC SIGNE ON ISUN		#: Cracked X: Dented /: Scatched O: Missing
12. Tow Truck / Recovery Van : Vi Name of Driver : Vehicle No. : Time Dispatch : Time of Arrival :	RS DOA DOAD OT		1
12. Tow Truck / Recovery Van :	HOOLAN IC SIGNE ON ISUN		1
12. Tow Truck / Recovery Van : Vaname of Driver : Vehicle No. : Time Dispatch : Time of Arrival : Time Completed : Cash Invoice Details (if applicable)	HOOLAN IC SIGNE ON ISUN		/: Scatched O: Missing
12. Tow Truck / Recovery Van : Vaname of Driver : Vehicle No. : Time Dispatch : Time of Arrival : Time Completed : Cash Invoice Details (if applicable)	HOOLAN IC SIGNE ON ISUN		/: Scatched O: Missing
12. Tow Truck / Recovery Van : Vaname of Driver : Vehicle No. : Time Dispatch : Time of Arrival : Time Completed : Cash Invoice Details (if applicable)	HOOLAN IC SIGNE ON ISUN		/: Scatched O: Missing
12. Tow Truck / Recovery Van : Vaname of Driver : Vehicle No. : Time Dispatch : Time of Arrival : Time Completed : Cash Invoice Details (if applicable) 13. Cash Invoice No. : Customer Acknowledgement 15. I have been advised to remove all valuable it	HOOLAN HE SHAPE ONSW	HERS	/: Scatched O: Missing Signature of Customer
12. Tow Truck / Recovery Van : Vaname of Driver : Vehicle No. : Time Dispatch : Time of Arrival : Time Completed : Cash Invoice Details (if applicable) 13. Cash Invoice No. : Customer Acknowledgement 1. I have been advised to remove all valuable it cash cards, spectacles, pen, etc.	ems in my vehicle, including Global Po	HERS sitioning System (GPS), audio com	/: Scatched O: Missing Signature of Customer pact disk, thumbdrive, carpark coupons, as.
12. Tow Truck / Recovery Van : Vaname of Driver : Vehicle No. : Time Dispatch : Time of Arrival : Time Completed : Cash Invoice Details (if applicable) 13. Cash Invoice No. : Customer Acknowledgement 1 I have been advised to remove all valuable it cash cards, spectacles, pen, etc.	ems in my vehicle, including Global Po	HERS sitioning System (GPS), audio com	/: Scatched O: Missing Signature of Customer pact disk, thumbdrive, carpark coupons, as.
12. Tow Truck / Recovery Van : Vaname of Driver : Vehicle No. : Time Dispatch : Time of Arrival : Time Completed : Cash Invoice Details (if applicable) 13. Cash Invoice No. : Customer Acknowledgement 1. I have been advised to remove all valuable it cash cards, spectacles, pen, etc.	ems in my vehicle, including Global Po	HERS sitioning System (GPS), audio com	/: Scatched O: Missing Signature of Customer pact disk, thumbdrive, carpark coupons, as.
12. Tow Truck / Recovery Van : Vaname of Driver : Vehicle No. : Time Dispatch : Time of Arrival : Time Completed : Cash Invoice Details (if applicable) 13. Cash Invoice No. : Customer Acknowledgement 1. I have been advised to remove all valuable it cash cards, spectacles, pen, etc.	ems in my vehicle, including Global Po	HERS sitioning System (GPS), audio com	/: Scatched O: Missing Signature of Customer pact disk, thumbdrive, carpark coupons, as.
Name of Driver Vehicle No. Time Dispatch Time of Arrival Time Completed Cash Invoice Details (if applicable) I. I have been advised to remove all valuable it cash cards, spectacles, pen, etc. I understand that any items left behind are at Surcharge: Towing fee will be levied if the cu	ems in my vehicle, including Global Po	sitioning System (GPS), audio comwill not be held liable for such lossed with the repairs in SPARK Cal	/: Scatched O: Missing Signature of Customer pact disk, thumbdrive, carpark coupons, as.
12. Tow Truck / Recovery Van : Vaname of Driver : Vehicle No. : Time Dispatch : Time of Arrival : Time Completed : Cash invoice Details (if applicable) 13. Cash Invoice No. : Customer Acknowledgement 14. I have been advised to remove all valuable it cash cards, spectacles, pen, etc. 15. I understand that any items left behind are at Surcharge: Towing fee will be levied if the customer Acknowledgement.	ems in my vehicle, including Global Pott my own risk and SPARK Car Care stomer decides neither to tow nor produced to the control of the cont	sitioning System (GPS), audio comwill not be held liable for such lossed with the repairs in SPARK Cal	/: Scatched O: Missing Signature of Customer pact disk, thumbdrive, carpark coupons, es. Care™.

Date & Time of Arrival

COMFORTDELGRO ENGINEERING PTE LTD

REPAIR ESTIMATE

Effective Date: 1 Nov 2020

DATE:

18-Feb-22

PAGE 1 of 3

MODEL:

Hyundai i40 (FRONT)

INSURANCE: MSIG

VEHICLE NO.:

SHA9377D

MVA: LIM T S

PART NO. DESCRIPTION	QTY	UNIT PRICE	AMOUNT
Bonnet	1		\$2,265.90
Bonnet Rubber (LH)	1		\$35.70
Bonnet Rubber (RH)	1		\$35.70
Bonnet Hinge (LH/RH)	2	\$126.70	\$253.40
Bonnet Moulding	1		\$105.20
Bonnet Lock	1		\$142.20
Bonnet Absorber (LH/RH)	2	\$61.60	\$123.20
Bonnet Insulator	1		\$202.50
Bonnet Seal	1		\$31.90
Bonnet Insulator Clips	10	\$2.20	\$22.00
Bonnet Cable	1		\$69.60
Radiator Grille H Emblem	1		\$129.50
Radiator Grille	1		\$1,480.00
Front Bumper Cover	1		\$1,052.20
Front Bumper Sponge	1	1	\$379.20
Front Bumper Reinforcement	1		\$588.40
Front Bumper Grille (LH/RH)	2	\$187.20	\$374.40
Front Number Plate	1		\$35.00
Front No. Plate Trim Cover	1		\$20.00
Front Bumper Centre Grille	1		\$114.00
Front Bumper Lip	1		\$152.00
Front Bumper Bracket Top (LH/RH)	2	\$44.80	\$89.60
Front Bumper Bracket (LH/RH)	2	\$49.20	\$98.40
Front Bumper Side Bracket	2	\$14.30	\$28.60
Front Bumper Grille Air Duct (LH/RH)	2	\$126.20	\$252.40
Headlamp Support Panel Assy	1		\$907.40
Headlamp (LH/RH)	2	\$1,388.00	\$2,776.00
Headlamp Support Top Cover	1		\$222.60
Radiator	1		\$1,637.20
Radiator Fan Blade, Cowling, Motor Assy	1		\$1,194.20
Radiator Bracket (LH/RH)	2	\$13.00	\$26.00
Radiator Hose Upper	1		\$229.50
Radiator Hose Lower	1		\$135.60
Radiator Guard (LH/RH)	2	\$76.50	\$153.00
Horn Unit (LH/RH)	2	\$73.80	\$147.60
Horn Wire	1		\$156.60
Air Cleaner Assy	1		\$118.60
Air Filter	1		\$63.70
Air Cleaner Cover	1	1	\$47.80
Air Duct	1	- 1	\$171.70
Air Flow Sensor	1	I	\$527.80
Resonator Tank Hose	1		\$218.30

PART NO.	DESCRIPTION	QTY	UNIT PRICE	AMOUNT
	FRONT PORTION		SHA9377D	PAGE 2 of 3
	Frt Fender RH/LH	2	\$663.00	\$1,326.00
	Frt Fender Shield RH/LH	2	\$174.90	\$349.80
	Wiper Container	1		\$61.90
	Wiper Container Motor	1		\$75.00
	Front Tyre RH	1		\$216.00
	Front Wheel Rim RH	1		\$650.60
	Front Wheel Cap RH	1		\$217.20
	Front Wheel Hub RH	1		\$153.60
	Front Shock Absorber Assy RH	1		\$684.40
	Front Shock Absorber Mounting RH	1		\$217.60
	Front Shock Absorber Fork RH	1		\$212.15
	Front Suspension Upper Arm RH	1		\$250.40
	Front Drive Shaft RH	1		\$2,061.60
	Rack & Pinion Assy	1		\$1,820.00
	STG Tid End RH	1		\$125.20
	STG Ball Joint RH	1		\$73.10
	Stabilizer Bar	1		\$463.70
	Stabilizer Bar Link RH	1		\$85.90
	Stabilizer Bracket RH	1		\$24.00
	Front Suspension Lower Arm RH	1		\$595.90
	Knuckle Arm RH	1		\$552.00
	Knuckle Arm Bearing RH	1		\$673.20

PART NO.	DESCRIPTION	QTY	UNIT PRICE	AMOUNT
	FRONT PORTION		SHA9377D	PAGE 3 of 3
	Engine Under Cover	1		\$334.60
	Engine Cross Member	1		\$2,094.40
	Engine Lower Cover	1		\$146.90
	Oil Cooler-Assy	1		\$267.10
	Inter Cooler	1		\$1,032.50
	Inter Cooler Mounting (2 Pcs)	2	\$25.90	\$51.80
	Hose B To Inter Cooler	1		\$229.70
	Hose C To Inter Cooler Inlet	1		\$294.50
	Pipe To Inter Cooler	1		\$167.05
	Pipe To Inter Cooler Outlet	1		\$244.50
	CUD TOTAL			\$22 EEE 00
	SUB TOTAL LESS 20%			\$32,566.90
	DISCOUNTED TOTAL			\$6,513.38 \$26,053.52
	DISCOUNTED TOTAL			\$20,033.32
	Labour Charge			
	Panel Beating			\$3,000.00
	Spray Painting Charge			\$2,000.00
	Wiring Charge			\$100.00
	Tuff Kote			\$100.00
	Towing Charge – King Dolly			\$150.00
	Remove/Refix Cushion & Upholstery Etc			\$150.00
	Remove/Refix Undercarriage Four Wheel Alignment			\$400.00 \$150.00
	Remove/Refix Radiator			\$120.00
	Remove/Refix Aircon & Refill Gas			\$120.00
	Remove/Refix Engine			\$1,200.00
	Remove/Refix Steering Rack/Wheel/Dr Shaft			\$150.00
	Diagnostic & Resetting To Erase Fault Code			\$480.00
	TOTAL LABOUR			\$8,150.00
	(FRONT) ESTIMATE TOTAL			\$34,203.52

This is an initial estimate based on a visual inspection of the above vehicle. The final repair quantum will be prepared after the vehicle is surveyed by a motor Surveyor appointed by the insurance company.

COMFORTDELGRO ENGINEERING PTE LTD

REPAIR ESTIMATE

P1/2

DATE:

18.02.2022

3P INSURANCE:

MSIG

MODEL:

HYUNDAI I40 (REAR)

VEH NO.:

SHA9377D

MVA:

LIM T S

PART NO.	DESCRIPTION	QTY	LIST PRICE	REMARKS
	Bootlid	1		\$2,609.80
	Bootlid Hinge (LH/RH)	2	\$142.30	284.6
	Bootlid Lock Upper	1		\$114.90
	Bootlid Lock Lower	1		\$31.70
	Bootlid Hyundai Plate	1		\$21.10
	Bootlid 'H' Emblem	1	b	\$63.10
	Bootlid CRDI Plate	1		\$52.40
	Bootlid I40 Emblem	1		\$67.90
	Bootlid Lamp (LH/RH)	2	\$622.20	\$1,244.40
	Bootlid Moulding	1		\$85.00
	Bootlid Lower Outer Garnish	1		\$227.90
	Rear Bumper	1		\$1,106.00
	Rear Bumper Reinforcement	1		\$428.40
	Rear Bumper Clip (10 pcs)	10	\$2.20	\$22.00
	Rear Bumper Side Bracket RH/LH	2	\$80.30	\$160.60
	Rear Bumper Sponge	1		\$119.50
	Rear Bumper Under Cover	1		\$228.00
	Rear Bumper Reflector RH	1		\$32.00
	Tail Lamp (LH/RH)	2	\$697.80	\$1,395.60
	Tail Lamp Quarter Panel (RH/LH)	2	\$453.00	\$906.00
	Exhaust Muffler RH/LH	2	\$967.70	\$1,935.40
	Exhaust Pipe Hanger	2	\$58.55	\$117.10
	Exhaust Pipe Centre	1		\$730.10
	Rear End Panel	1		\$526.70
	Rear End Lower Panel	1		\$495.50
	Rear End Panel Garnish	1		\$57.70
	Rear Fender RH/LH	2	\$2,171.40	\$4,342.80
	Rear Windscreen Moulding	1		\$51.80
	SPARE PARTS SUB TOTAL			\$17,458.00
	LESS 20%			\$3,491.60
	DISCOUNTED SPARE PARTS TOTAL			\$13,966.40

PART NO.	DESCRIPTION	QTY	LIST PRICE	REMARKS
	REAR PORTION		SHA9377D	PAGE 2 of 2
	Bootlid ComfortDelGro	1		\$30.00
	Bootlid 65521111	1		\$30.00
	Reverse Sensor	1		\$135.70
	Rear Bumper Mat	1		\$50.00
	Rear Windscreen Sealant	2	\$46.00	\$92.00
	NETT TOTAL			\$337.70
	SPARE PARTS & OTHERS TOTAL			\$14,304.10
	Panel Beating			\$3,000.00
	Spray Painting Charge			\$2,000.00
	Wiring Charge			\$100.00
	Tuff Kote			\$120.00
	Remove/Refix Cushion & Upholstery Rear			\$120.00
	Remove/Refix Rear Windscreen			\$150.00
	Remove/Refix Reverse Sensor			\$120.00
	Remove/Refix Exhaust Pipe			\$160.00
	LABOUR TOTAL		į į	\$5,770.00
	(REAR) ESTIMATE TOTAL		ļ t	\$20,074.10

This is an initial estimate based on a visual inspection of the above vehicle. The final repair quantum will be prepared after the vehicle is surveyed by a motor Surveyor appointed by the insurance company.